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Q2. If x +sin ~'(z) = tan (7 - y), find y', then prove that ¥ =2y (m - p)

Q3. Find the nth derivative of y =27 3x
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Q5. Prove that f(x)=x’+2x—1 has an inverse and then find the slope of the
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Q6. At what point(s) is (are) the tangent line to the graph of y=10"+xIn100 is
perpendicular to the line yIn1000+x+2 =0 . Show your final answer.
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Q7. A spherical snowball is melting at the rate of 27 c¢m ° /sec . How fast is the raduis
changing when itis 3cm. ¥ = (4/3)7r?.
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Q8. State and then prove the Quotient Derivative Rule (Division Rule).
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